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CBT Sample assessment model answers

Accounts Preparation (ACPR)

Sample assessment 2
Task 1
[image: image2.png]Extract from non-current assets register

Description cquisition oL Funding
erial Number Date unt method
Office equipment
Copier 4 loroans | 320000 Finance lease
Year end 3103%6 400,00 2:800.00)
Year ena 31037 400.00) 240000
T T T T T T I
Reception desk-FaradiR oo | 120000 cash
Year end 311036 7750 116250
Year end 3103x6 15000 101250
Year end 31037 [f500 i 60000 30096
Machinery
‘CNC machine CNC3491 loroams | 18,400.00 Partexchange
Year end 31036 4,100.00) 1230000
Year end 3103%6 2,075.00) 9.225.00)
Year ena 31037 230825 691875
[Power lathe PH1892 01046 | 10189.80 [Hire purchase
Year end 31037 254745 764235





Task 2

[image: image3.png](a) Calculate the depreciation charge for the year on the new machine.
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[image: image4.png]Machinery at cost

[¥[ealance bid 42800]Balance cid 52100
S [Eank EE

i

il 52100 52100

Depreciation charges

[[Balance bid 9630[Proft or oss account 11603]
[ [Machinery accumuiated depreciation 1575

Bl

il 1605, 1609

Machinery accumulated depreciation

vi[vl[v][¥]

lBalance dd 21235 Balance bid 192600q]
Depreciation charges 575[q]

Kl

21235 21235[q)

AJ[a][a][a]





Task 2 (continued)

[image: image5.png]An item of computer equipment originally purchased for £2.700 and with a camying amount of £675 has been sold.
The loss on disposal was £150. A cheque forthe proceeds was banked.

(d) How much did the business receive for the computer equipment? lgnore VAT.

& [525

(e) Which ONE of the following is the main purpose of a non-current asset register?

To provide intemnal control.

To provide the selling price of a particular tem atthe time of ts disposal

To provide a measure of financial performance.





Task 3

[image: image6.png](a) Show how the general ledger account for general expenses looked at the beginning of the financial
year. Insert ONE date, ONE description and ONE amount into the correct position in the ledger

account.
Dates (insert ONE): Descriptions (insert ONE) Amounts (insert ONE):
01104IK7 1350
3110306 | [ 311037 Accrued expenses bid

011046 || Prepaid expenses bid | 2,100





[image: image7.png](b) Complete the following statement:

On 31103147, the general expenses account shows a. [debit [l enryfor

ecueemenses |l cameaconnr £

(€) Calculate the general expenses for the year ended 31/03/X7.

= [16250

1350





Task 3 (continued)

[image: image8.png](d) Update the vehicle running expenses account for this, showing clearly the balance to be carried down.

Vehicle running expenses

[Bank 23700 [Accrued expenses bid 1970

[Batance cia 21730)

23700 23700)

[ATTATTATTAT

[F[¥I[¥i[v]

You nowfind outthat the cash book figure for vehicle running expenses includes £375 relating to the period 01/02IX7 to

30/04/X7.

(€) Taking into account this information, complete the following statement:

e amountt 0 rstaredto e sitmentofrft o5 et ruing s wil o 2[5 el
than the figure carried down in (d).





Task 4

[image: image9.png](a) Using all the information given above and the figures given in the table below, enter amounts in the.
‘appropriate trial balance columns for the accounts shown.
Do NOT enter zeros in unused column cells. Do NOT enter any figures as negatives.

Extract from the trial balance
as at 31 March 20X7

[] Atlowance for goubtul geots agjustment

B covrat 30009
O —— 750

¥ nsurance costs 1300

B[ toan 000

] osn mirsstrecetvea E
b Wscetaneous mcome 2537
¥ Payrol expenses 9600

> Prepaid expenses 25|





[image: image10.png](b) Use the following table to show the THREE adjustments you need to make to the listing of purchases ledger balances.

Adjustment Add Deduct

[Adiustment for (1)

[Adjustmentfor (3)

[Adjustment for (4)





Task 5

[image: image11.png]Extract from extended trial balance

[Accruals 310]
[Bank 2280| 880

[Closing inventory - statement of inancial position 15536

[Closing inventory - profitor loss account 15534
[Pisposals of non-current assets, 270)

[Interest received 14|

[Office expenses 16490 310

[Ofice fumiture at cost 21000)

[Purchases 208300)

[Purchases ledger control account 20740)

[Rent receivable 38520

[Sales 260040)

[Sales ledger control account 28300)

[suspense B[ 940 880
VAT 2350) 0a0]





Task 5 (continued)

[image: image12.png]‘The ledgers are now ready to be closed offfor the year ended 31 March 20X7.

(b) Show the correct journal entries to close off the interest received account and select an appropriate
narrative.

Journal

[Interest received 114]

[Proft or loss account 14|

arratve:
Franste o erestrecevd ot yor enisd 3T Warch 25K o swementorprotortess il





Task 6

[image: image13.png]Extended trial balance

[rdminisiration expenses 53590 E= ol
[Bank 1530 1530 ol
[Capial 22000 22000(q]
[Closing inventory 78530 18530) Te530] 18530 ol
[Depreciation charges 5075| 5075 ol
[Bravings 3730) 1270) 15000 ol
[Opening imventory 6720) 15720 ol
[Payoll costs 29630 EQ 0540 ol
[Purchases T7520) 1270] 170250 ol
[Purchases ledger control account ETT] T 5720[q|
[Rent 14800 14800 ol
[Sates EIE EG 287340 4
[Sales ledger control account 23840 380 23450 M
[Sates retums EEE EC ESD ol
[Suspense Stes|  sos| o) ol
3 080) 20%0[q]
[Vehicies atcost 32400 2400 ol
[Vehicies accumuiated dspreciation 12750) 5075} Te2zs]q]
[Froft Toss for he year 30883

[FoTAC Te72aT] Swazi| 741 ZeH| 305670] 305670| 90920





Task 6 (continued)

[image: image14.png](b) Complete the following sentence:

To accountfor the uncertainty with the specific debtthe [allowance for doubtiul gebts B account
inthe [generaledger ] should be used.

{€) Which of these statements is true? Choose ONE:

‘The weighted average cost method of inventory valuation is the only method acceptable under
‘accounting standards.

‘Selling costs may be included in the valuation of inventory.

Inventory valuations may include raw materials purchased for making into products for sale.

Inventory is valued at the higher of cost and net realisable value.





[image: image15.png](d) Tick the boxes to show what effect this transaction will have on the elements of the accounting
‘equation shown below.

You must choose ONE answer for EACH row.

lassets

|Liabilies

|Capital
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